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Pashu Parichar 1st Shift
- 03.12.2024

Which of the following physiographic regions of

Rajasthan share’s’-its boundary with Madhya
Pradesh?

Choosc the most appropriate answer from the
options given below: '

(A) Westen desert plains region .

(B) Semi-arid region

(C) Aravali region-

(D)  South-eastem platcau region

(E) Question not attempted

Ty 1 Frefaiaa § ) 2o it O wor-
R 5 T et Ef w2
iR faeedt 3§ & watfirs sugs aw g?r
(A)  afind) wecereh fard &=

®) I &

(C) Taeh &=
Dy <t vard &=

(€) sgeRaws

Tropic of Cancéi"pasies through which of the
following regions of Rajasthan?
Choose the most appropriate answer from the
options given bclow
(A) Sirohi
(C) Jhalawar

Bh:lwara

|

('D) Banswara
(E) Question not attempted
m&mmﬁ% Freaferfiaa 32 f \

ﬁq’r‘eﬁ‘mﬁmi%
(A) ﬁ’rﬂiﬁ

#
(© . %wm
(E) ﬂiﬂf‘“ A\
Which of th
shares its boundary with Gujarat state?

ollowing regions of Rajasthan

Choose the most appropriate answer from the

options given below:

(M) - 630,50

_‘M T11,033.75 (B) % 12,337.50
» ;

(A) Chittorgarh  (B) pau.
(C) Uda!ptu' (D) dNngaul-
jon not attempte
(E) Quesﬁuonn s .
sy e T e 87
o P frared @ v S e
4K s (B)
(C) S (D)
(B) ofguRa w4
DER-n14)

The cumpound interest on T 4,000 at 10% per

, annum for 1—- years, interest compounded half

yearly is:’ o
24,0009 ;— aﬁﬁsfﬁqm%mﬁmﬂ&m‘mﬁm
uﬁﬁaﬁ%mmﬁm%

(B) 2600
(O7 1262050 (D) 2625
(E) Question not attempted / 1A 71

@;‘he difference between the compound interest.
4

and the simple interest on a certain sum for 2
years at 10% per ag.num is T 700, Find the
compound interes same sum at the same
rate for 1-5 l&En interest is compounded
halfycm

Q 10% =i X & Tergfe =arer

amriimz 700 1 36T TR QT I

a&waaqﬁmmmﬂam
aﬁr&aﬁméi

(© 1221125 (D) T 11,885.40
(E)  Question not attempted / 3TTafa W

At what rate of compound interest per annum will
asum of T 5,000 become % 5,724.50 after 2 years?
e =T Y iR e g e 2 5,000 Frafir 2

T TR 5,724.50 B e
(A 6% (B) 6.5%
(C) 7.5% ®) %

(E)  Question not attempted / ATRIE w2

What number should be subtracted from cach of
15, 28, 20 and 38 so that the resulting numbers
are in proportion?
TSl 15, 28, 20 7 38 3 el & & -t WA
e S R T e e i g
(A) 3 @ 6
© 4 ) 2
(E)  Question not attempted / 3¥FARA ¥4

| Contd...

Scanned with CamScanner


https://t.me/rsgonline

The Nagoya Protocol in,access apg benefit
sharing was adopted under p_‘ﬁ aggis of:
Choose the most appmpn’w

answer from the
options given below:

(A)  The Zoological Surveypfindia

(B) The convention on B!iﬂ‘oi;fcal'bivcrsity
(C)  Preinvestment Survey 8 Fotest Resources
(D) National Centre

'fgr. . Biotechnolop
) nology

Information

(E)  Question not attempted

ST T AN W i W
ﬁ;aiwﬁraifﬁtmiﬁtﬂi:_ '

ﬁ:%f@aﬁaﬁiﬁﬁwﬁgg:wgmmgﬁ:

(A) T wroft waeqor o

®) Jfafwaafr o

“©) IR wd i B i

(D) IS FX BT AT o TR
() Iuf@awy o

First “National Space Day’ %as observed on 23™
August 2024 because: o

Choose the most appropnm answer f'rom/tb<
options given below: L3,

10

11

he

12

(A) India became the l‘ougbl-country to'and on
the moon and the firsttoireach the % m-
Polar Region on 23"9¢Avigust gmﬁ
(B) 23" August is the birlh%,,fl1 er of
Indian Space Programimeé
(C) 23" August is the oundation of
ISRO
(D) Indian MAKS ion, was launched on
23rd AUE& i
(E) Question empted!
TaR UG st feaw 230mer 2024 F @
4147 7ar?
Frerfefra et 3 Frgm T
K) VT e 1 e g 3 aren gt 200 T
3T 23 3176 2023 Feafaroft g v T
aqTET Y& 39 N
B) 23 mﬁmw@;w%ﬁmﬂ
iy <
(C) 23 7T T Sl o g '
(D) TR 3 WTeT SR o 23 o 7Y P
L5l
(® it

»

<) Y&). Jakham

The state animals of Rajasthan are:
Choosc the most appropriate answer from the
options gi\lrcn below:;
(A) Tiger and Cow o
(B) Tigerand Came N
(C) Chinkara and Camgl
(D)  Camecl and Black.Ranther
(E)  Question not attergipted
TTEH ST w8 O
Freafefen faeed 5 & watfie sugm w3
(A) =T it
(B) fraraivde 2’
€)™ MRt feor (Feermm) ot 52

(D) :%z:n’rmgc&
(E) Wﬂﬁitﬂg v O
\ g r

Which &N’Qﬁdﬁwm is associated with
the wengal drainage system?

psethe most appropriate answer from the
%s given below:
Chambal
(C) Mahi Sabarmati
(E) .Question not attempted
Frefafaa & @t @ frat svadary
Heiferg &2 <

ﬁqﬁi’@aﬁmﬁﬁ'ﬁ%ﬁ&ﬁwﬁm%ﬁ:
(A) <maw 4B) ==

(©) W IEtunis

(E) ogafasd o

Which one of the folloWihg rivers does not flow
in Rajasthan? ::ﬂ'

Choose the most app@n‘nm answer from the
Options given below:

(A)  Subamarekha (B) Mahi
AC)  Luni D) Banas
(E) Question not att :.'ptcd
ForesfnRerer 3 2 -l 4 oot & ot arefy 2
ﬁqf%lfhaﬁm?ﬁﬂﬂaf&waugmmggf:
Wﬂvi‘t@rfgaﬂ@glf
(B) =W o
©)
@) wmw
® i A
[ Contq,.,
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DER.

\Which of the following National Iligl:wf:ys pass
* hrough Rajasthan? .
Choose the maost appropriate answer from (he
options given below:
(A)
(B)
(C)

Natienal Highway no - 208
National Highway no - 4
National Highway no - 10
(D) National Highway no - 11

()  Question nat attempted

Ffsfam & 3 W1 W TSI TRy
%ﬁwﬁémmmgﬁz |
(A) n@wﬂmﬁﬁ@r-zos
uBy T TR Ty . 4

(©) n@amé@gr-lo
©) T T - g
B) wafawg

Identify the Rajasitang player who represented
India in Paris Olympics 2024,

Choose the most appropriate answer frq
options given below:

(A)
(B)
©

Lalit Kumar Upadhyay
Maheshwari Chauhan

w

Neeraj Chopra ,0, '
(D) Aishwarya Pratap Sin@mar

(E)} Question not N,

e e s A 2w det §

v 1 wfaffre fomr:

Frefefis faeredt i @ waffas sogwam T
HA) e AR 39T :

(B) wrewd e

(C) rwr <z

(D) ¥ e fity A

(E)
'®

B4

{

n'g

16

In which .of the followin

CImudhnry'o!‘Jhunjhunu (
at Macau,

E gamesg has N
Rajasthq
China in June, 20247

ikity
n) won Medy,
Choose lhc'mo.w appropriate 4

Nswer from thy
options given below:

(A) Gymnastics

(B)  Sambo

(C) Chess

(D) Bntlminton

(B) Question not attempted
mmmq)zﬁ}ﬁﬁ‘smﬂ‘m&%ﬁn%ﬁn EEH
ﬁﬁ'ﬁﬂﬁaﬁmﬁﬁ?ﬁ% 2024 5 92 S
ﬁ%ﬁ_ forett i § wmf IIGH I T
Ay Frenfes '

(B) A=y \

%

which constituency in theléd

1wjan Lal Sharma, cM of Rajasthz
Qfépmsedtcd

Assembly?

Choose the most appropriate answer from B
options given below:

(A)
(B)
©
(D)
(B) " Question not attempted
TR 3R st st sror et e 1 e R
& o e ey vt ®
PR et & i g s

AT T
®) E
(€) framy
(D) TeTEmR
(B) qafewsy

Sanganer
Shahpura -
Siwana

Rajsamand

| Cor
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17 Which party has won, Banswara Parliamentary
constituency (Rajasthan).in (he 2024 Lok Sabha
Election? 3
Choose the most appropriate answer from the
options given below:

(A) Bahujan Samaj Party -

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party

(D) Indian National Congress

(E)  Quecstion not attempted '

2024 & AFON T § F 0 3 Fimarg
(TET) HET 8 A St ww

Frfefn fewed # & waifas sugm smat:
(A) g /RIS I

(B) MR a1 O

ey e nfeardt el

(D) 3fem  Ea wiw

(E) gafawy

18 A sum of ¥ 1,800 is divided among A, B, C so
that A gets %— of C's share and B gets 7 of A's
share. The share of Cis:

_ T 1,800 F1 TR FY A, By C F 30 WF AN TE
TaT cHumar 2 qurp A AF
STH 1T 81 C &7y 2
(A) 2600 (B) 1,000 \
(€) 900 AD) 71,200 \
(E)  Question not attermipted / Jafa

19 The process in which the s Qﬂcs of one
breed are majeq with th q&rior females of
another breed is cahidy. \J
Ch?osc the mg"i“]’ﬂ%’fﬂfﬂ answer from the
Oplions given be)o .

(A) Inbreeding () Oyt breeding
Eg}) gzil;'i:;:s::)’zg (D)  Cross breeding
attempted
g‘;mm%m%%mmz,gﬁmfﬁ
e e g ch e o
T Bt of & arrtfores g S G
(A) s o
(B) =y
(C) ¥y w; s,
AD) "W — MW’
T (@ e
(E) sgufawy

DEF-B14 | 8 ‘

4

20  How many parts arc there in the stomach of a
camel?
Choose the most appropriate answer from the
oplions given below:
(A)
(B)
©) -
(D)
(E)
T S 3 I | fe v € €2
frafafaa fasedt & @ watfis sugs o 34
() i .&

& N
by @9
o #=ONC

o
(E)

Five
One
Two
Three

Question not attempted

-

§/ '
»
%:/gg from all natural orifices and distress

21
I~ e
%/Q\ { Jfembling is important clinical symptom of which

of the following diseases?

Choose the most appropriate answer from the
options given below:

(A) Black Quarter

(B)
©)
(D)

"Hemorrhagic septicemia

Rabies

Anthrax
(E) Question not attempted
o wgfew 4 ¥ WEE i s dy
et 3 3 et A 1 G et e
TR &
Prsafifre et & raifees g s gy,
(A)  =IHwERK

L)~ iR Sl
© ‘wiwr
(D) whaw

(E)  orgafw s
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TR
- ue~ R Emm @

24

_ W*Wﬁm&ﬁnwm—

. ﬁmﬁﬂﬁwﬁﬁmﬁm

Foot and mouth discase in cattle is caused duc lo

infection by Q

Choosc the most ‘W’m’lffu answer I'rnm thc
(\,l

(BYD DBacteria

(DY Prolozoa

Question not attemplyd

options given below:
(A)  Fungi
(C) Virs
(E) .
LEL]

' ;ﬁqﬁiﬁﬂﬁmiiﬁmﬂﬁﬁzugmmgi
(Bf2 sfamy cdwdifean)
RIS

0
| S
- Groommg of calves is doffSito:
- Choose the most appmp%ie answer frnm the
options given below;
(A)
®)
©)
(D)
(E) Question not attem

TR YETR AL

(E) Cﬁjﬂftﬂm

o
Q
GD

Keep them clean
Get fibre

Avoid licking
Decrease blood c:r&'@nhon
d

K.

PRI
(A)
(B) I (A1) W FH
(€)

D)
(E)

<

'ijc;@tlaunc ied in;

Choose the most appropriate answer from the

options given below:

{IIUPD 1962

(A) 1973
(C) 1968 (M 1970
() Question not attenipikd

- gy afeieA (ANI9E 278 O g g,

famferfan fared i & wifi T I

1973 # (B) 19623
(€) 1968 7 (D) 19703
() i ug
DEF-114] @
6

25 Which of the follows%ls notaforcstand e
Q
Choose the .most. a]&’cpﬂa{c answer g
options given belowi )
(A)  Protected foreStd
(B)  Reserved forests,
(C)  Unclassed forests
(D)
(E)

resource?

Indigenous for&‘ts 5
Question not aftempted

]

fr=fafas
(A) ;
T

B)
N
mmﬁaa%
‘b» ® s oy
e - r-l
26 . Animals whose nuntbgrs are reduciog 10 sk
" that they mi ght face Elinction are knowe s
. Choose the most: appropriate answer fea®
options given belowis '
(A)
(B)
©
(DY
(E)  Question not altempted ﬁl‘
i st Rt s FA A
3 ﬁrshqqmmmmﬁ T
ﬁqﬁf@aﬁma@pﬂmwﬁﬁ
(A) s e 33
(€) Forgw snfeat 5
(D)  Taeiter snferat
(E) Syafawx

8]

<t
o

Endemic specg:%

Extinct sp:ciars\-},*

¢
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27  Which of the following statements is not correct
about laterite soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Tt is formed by the ' crystalline and
metamorphic rocks, '’

(B)
©)
D)
(E)  Question not attempted
ﬁqﬁwﬁaaﬁash-mmwmﬁﬂimwiﬁ
TR T TE {7

Pt e & & watfis suges sogh:
(A) TEFEIaRT & War TgHi @ 7= )

(B) T W1 R H urft S

©r < s & suftafa & w78 e

Enifd
My TaH 94T 9 SR g S ) /<
(E) @y
descending order according to th &'
(Census 2011): \

. O

This soil is found in Dungarpur,
It looks red duc to the presence of jron.

It contains cnough quantity of phosphorus.

28  Arrange the following dlsmcls DfRﬂj

29

~3

a. Churu

& Alwar w

A F mamnzr (2011Y

FVET) F G wH T 5

a. 9% b. @I

c. ~HAAN d. faué

Choose the most appropriate answer from the

options given below:

sfréx feu, 1o, faareii 7 41 wraffivs gy sAC A
AK) be,ad (B) d,b,c,a

© abcd (D) b,a,cd

(F)  Question not attempted / stdfta w4

DEF-BI14] 8 ' 7

“Vijaya Stambh", located in Rajusthan was
constructed by?
Choose the most appropriate answer from the

oplions given below:

(A) Bappa Rawal

(B) Mahmood Khilji

(C). Rajaraja Chola

(D) Rana Kumbha

()  Qucstion not atternpted

et i et e wror @y Bt fere g
CneiviRici]
fFreafafer famedt it § wratfis sagin sar g

shopkccpcr sells an item for T 900 and suffers
a loss of 10%. To eam 12% profit, for how much
" should he sell the item?
T ZhARI fort awg Y T 900 # drrr § s 3@y
10% Fy wifr orelt 81 12% wnw sifeker et & g 3a

ey At fper 3 Aerr e

(A) 21,100 (B) 71,098
&) 71,120 O 1,112

(E)  Question not attempted / argaftr wy

Nikhil sold an item for ¥ 1,425 and suffered o logs
of 5%. For how much should he have sold it 1o
¢am 10% profit?

Fferer ¥ e awy 5% wify % e ¢ 1,425 3 ey

10% wnr aiffer e & R 3y g TRy PRy §
Ae:) wnfieg i

(A) 21,662 (B)  ?1,63875

€) 21,642 —tH) 21,650

() Question not attempted / S yy

[ Contq..,
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32

33

34

A shopkeepersold anitem for T 960afier nllowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%
discount?
m%m%mﬁmzo%fﬁwm
X T 960 ¥ ) wf g Feret 12% B e 3 A 30
a1 famg e e
LT T1056 (B) T968
. (C) T998 (D), 1042
(E) Question nol uttcmptcd / 31'3"\1&1 i

In which folk theatre forin'is its artist called |

*Behrupiya® (Impersonator)?,

Choose the most appropriate answer from the
options given below: ; .
(A) Tamasha (B), Swaang

(©) Gavi o).
(E) Question not atteml}tcd
ﬁmt«ﬁmmﬂ?ﬂﬁmﬁmﬁwaﬁm
2 ;:
ﬁrn‘r"crﬁa?rﬁﬁlﬁﬁﬁmﬂhsmm
{A) mT (B). win

E) smefawa \4\, '

Ramavat

Where is' the Kcotadc@ National park

located? \

Choose the @# late answer from (he
options given

(A) Udaipur ([f Bharatpur

(C) Sawai Mndhopur(qli Dholpur

(BE) Question not attempted

Faemred mwwmamf frady
Prerfrfega fared ﬁamﬂammmﬁ
W wR g

© wadmig (D) e

(e) srgaf@wd ’

DEF-B14] @&

as

Which fort of Rajasthan was "“-‘mdh E
*Sccond Gibraltar urtllgvlorld 1 “"
‘Choosc the: most appropriate answey fr:m 4
options given below: N

_ (A) Junagarh l"'l
(B) Nahargarh =
(C) Mehrangarth @
(D) Taragarh (Ajmer) P
(E)  Question not attefnpted ‘ ;
W%meﬁ:ﬁrﬁ“@awzﬁv T '--'E
T 87 N !
Frefeafiaa fawedt & ﬁ‘wﬁf‘mwgmﬁrf !t
(A) TR < t

t

'(B) T O\ e

o iy ¥ |
.,mrw*@%c: i }

‘ 7
» ;
@ch of the fouowmguﬁmcs ormiﬂ‘-“”
'y,

the highest sex ratio in ngl aren accordict®*
census of 20117 _
‘Choose the most appropriate answtt.-ﬁ“’ -

options given béIéw:

ee]
(A) Jhalawar N
({¢)
(B) Ganganagar vl
(©) rali <
(D) Jaipur o
(E)  Question not attempted

2mt$r~‘wrvm'&: W*M
ﬁaﬁ?rf-n"rmrhur

mmhmaawmmﬁ’“?
) WS
H
@) T 5,
4 e o
(D) R
(B) gafmyxn

IC"W
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In which of the fnllowing areas of Rajasthan,
Salar forest is not found?

Choose the most appropriate answer {rom the
options given below:

(A) Amer @ @) Udaipur

(&) Jnisalmcrm (DY IPahl

(E)  Question Ad attempted

Frerisfar oy 3 fors 3t e g
E\G R ‘le

Frsferfiae Rreredi® & wafire suge w0 g
(A) 3TN o ® FX

AC) W S (D) Wi

() 377l wX0
AN
\O

38 Which of the folJaying trees is not found in the
tropical thom for&ils of Rajasthan? '
Choose the mosgpproprfate answer from the
options given bc&w:

(A) Bamboo ¢y (B) < Rohira

(C) Kheju OO (D) Bair

(E) Question hQ} attempted 1
Frafafaa 7 G- qammﬁ:

FEET AT 7 TE L SeH? ' \
Frofifin faciii & i JTgmgR Th
AR) T (B) fiﬁ"ﬂé

(©) a—«m c:, o AL

(E) :

39 Namethe fonb@by _]Su.l'ajmal in 1733.
Choose the mogeppropriate answer from the
options given beTdW:

(A) Gagron fSr®  (B) Jalore fort
(C) Lohgarh fort (D) Churu fort

i (E) Question fiot attempted

1733 3 werw T i forsy amr o B
frafafaa & waffoa sugw sCEA:
(A) mAfR&D  (B) e R
<c7 mﬁm* () I e

;o (B o

. DEF-B14] 3 9

9

@

40  Which famous temple was constructed by the

: th
legendary Bappa Rawalinthe 8 century?

Choosc the most appropriate answer from the

options given below:

(A) Rishabhadev temple
(B)  Eklingji temple
(C)  Shrinathji temple
(D) Jagdish temple
(E) Question not attempted
gt qraTed)  we waer Zr fEA afag 5= F
formtor T
Frefefan fadedt § & gaifud I9gm 30T 94:
(A) FORE 'tﬂ.
~@) W%
(C) Ay
(D) R

inless steel is made by mixing iron with
a. Carbon . , b. Nickel and chromium

e Magnemum d. Manganese

Choose the mast appropriate answer from the

options given below:

(A)
©
(E)

B

.a,banddonly (B) a,bandconly

1
b, c anrd 4'1 only (D) a,candd only
Question not attempted

S e iR e 4 et s s

o T b e i wfRy
‘e Aefifiw o, B

mhmﬁmﬁ%mmm%

(A)  Faetq, baitd
(@) S=daq, baie
—8)  Farp, ¢ 3R d
D)  Fgerg, cadnd
(®)  Srgafer s

[ Conea,_,
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43

O Which one o&

g T

When vinegar is added to baking soda a gas 1s
liberated which when passed through lime water
makes it milky. The gas is:

Choose the most appropriate answer from the

options given below: .

(A) Nitrogen (B) Hydrogen

(C) Oxygen (D) Carbon dioxide

(E) Question not attempted

s e gt # frew frem s @ @ w W
et & S <0 3 v 3 wenfe fvg S @ SER
ﬁmm%ﬁ%n‘&ﬂﬁ%
mﬁwﬁﬁﬂmﬁmmm?

(®) T

(€) Nﬂﬁmw}l '

In which of the following arcas of Rajasthan the
desert soil is not found? .

w

Choose. the most appropHate answer from the
options given below:

(A) Kot Churu

(C) TMNagaur (D) Jodbpur

(E) Question not attempted #

T 3 ol 1 ) fra a5

TH O IR

(E)

a3

owing wild life sanctuarjes
is mot located in Rajasthan? ,
Choose the most appropriate answer from the
oplions given below:
,(A) Ram Sagar (B) Ramgnrh Vishdhari
(C) Bhensroadparh (D) Bhimgarh .
(E)  Question not attempted
Freafaftaa § W a=rsha
T .

ﬁﬁﬁmﬁiﬁmﬂw
LAL 101 (B) T ferayrgy
(C) ﬁ‘qﬁt‘rm -’ﬁ)) g

I

(B) wgefman
DEF-Bl4| @

10

W‘Wﬁ

-
ﬁn%mmaa %mgﬁ ¢
cC) &

10

45

}

46

‘ "@é stOn not attempted f
%ﬁwﬁaﬁwmmmﬁm#‘ i
¢

S

Which of the following statements js toL s
about the climate of Rajasthan? !
Choose the iidst appropriate answer o é‘.‘
options given below:

(A) Tﬁe_ western desert reccives Mty |

~ rainfall with annual average of 25 ¢y

(B) The .-average rainfall is not hl&ﬁur:

' Rajasthan because it is located ia 5,}

interior part. F

(C) The extension of Aravalli range ul
perpendifular to monsoon winds.

D) In little amount of rainfill & ns__ -_

through mavath.

FEF 87
ﬁnﬁmﬁmﬁamﬁwmmﬁ i
wpf XfrearT gad wa aat g atare e il
fit sftam 25 A 2 i
@®) T ofvad quf sifirr T RS R L I
St T i Rera 21 -
IEE dEer r fran ‘"’"‘Eﬂ it ¥ f
SEECE :
) 'mmﬁmﬁ%aﬁmﬁma l
®) afaws §
Which of the following is not an alloy? ‘E
Choose the mose appropriate answer from B¢ g

options gi\ren b'CIO\.\P:

(A)  Stainless steel (B)

Brass

Mercury
© (©) Bronze
(E) Question not attempted
Pl & & aerett frorarg et 7

ﬁ*@ﬁﬁﬁwﬂawwgmmﬂ*
W) =R Byt @O
© i 0 i

(B) orqafergs

b

' c°n ld-'
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Which of tl i :
47 ich °. ' ic following non meta) ISaconductor | 50 “Rane Jagpat ra Marasya™ was written to moumn
of clectricity? i
Choose the most nppmpn‘;,'u.l . the death of-
S G el ftate answer from the Choose the most appropriate answer from the
A Iodine ' &) ; Sk options given below:
(C) Graphite (D) Coal (A) Rao Ind@Slngh
(B) Ouestionng Y (B) Mahara@l(umbha
Frefirfas 3 @ Fron (C) Maharah®Jagat Singh
fr=fafaa ﬁwvﬁgg Wﬂﬁmmﬁaﬁ ?? D) i Nﬂ% ev i
(A) Wﬂ? v ®) 3 ? (E) Qucstioe__rlolaucmpted
S8 TR N (p ; . T STYA T AT e e a3 wehe #Y
®) sgEfayy O Fere feran mam
Frafafas freedi & @ watfes 39g 3T a4
48  To remove farsigh%ness defect of eye we use .- A Wz ffe HETTOTT T
spectacles fitted wilh; . (C) wemom Y T St
Chr:\osc the most @ppropriate answer from the E)
options given belotf) A S 0
(A) Convexg_cggﬁuﬂ‘avc 51  *Jeen he eight armed goddess is
(B) Concave Ienéj ) coniiﬁ e;if;'qgm_atiun of which Goddess?
(&) Cc.:nvex lens Chegoséwthe miost appropriate answer from the
(D) Bifocal lcnsc ‘%ﬁ' s given below:
ﬁﬂ;)‘ Question nofaftempted Sams“’%ii? . (B) Durga
Ed AT H c
s ;ﬁjﬂ b m&%a%q@ﬁwﬁuaﬁ\ (E) Lakshmigy - (D) Gayatri
2\ _ '\\ (E)  Questiopyot attempted
f ffefaa rﬂa‘aql“ﬁ'mﬁaﬂ? g N Wﬁ‘ﬁm'%ﬂﬁwww -
@) T ~d R ~ Rl
(B) = ,,0' Pt Ry it 4
—©) mﬁn;b \ ' (A) mﬁ@ : m@ﬂ THE:
(D) ﬁ'ﬁlﬁ&ﬁﬁﬂ% A \\’ €) =t O ;;m
(E) raf@ys 8 S E) maaﬂag A9
49 Wch dialect of th®)Rajasthan is spoken. in the | 52 Teej festivalCS} Rajasth,
region of Churu? month of. (N A0 1s celebrateq in th
Choose the most @ppropriate answer from the " Choose \0
- - th ! 1 )
options given belowy Options gi:e :g‘:;‘.f a.c‘iproprmre answer from th
(A) Hadoti Q) (B) anadi (A) phalgu.{:’ow. : F e
(©) Malawi (D)  Shekhawati ©  Chaitm ) Shrava
(E) Question no tempted (E) Q ) (D) Kartik
TS 5 < B G- e et et &1 :ﬂa;:@“'““‘mmed
faedl § Fatfere guge smogd m.m'ﬁ’-“mﬁﬂ?mm
A) T N (@) R Fartfirgs &
o T @ s N I Jwx
©)  wewh oy 7w © & O BT sy I
(B) osrqaf@wx 3 ~ (D)
D =t (E) mﬁ?ﬁ
fF-Bl4) @ © 1 -
. o
[ Contq
1
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To which arca of Rajasthan does Shree Lal Jog,:

i Kartik 55
g3 Where. is the Kapil Muni fair held on Karti + Phiil artist belong 7
Poornima? Choose the most apprapriate answer f:um the
Choose the most appropriate answer from the options given below: : '
e ) (A) Bhilwara (B) Jﬂ'P“f
options given below: (©) Thalawar (D) Kota
(A) Rewasa in Sikar () Question not attempted
@) Chaksu in Jaipur T FeTTRTC 2t ST S T U # g
- < K?la?m i.n'Di_knncr .!?Cl’ﬁ'?? RN _ffi 3“3?53?1’(35:
(D) . Diggipur in Tonk Ay Mfiemarst (B) SAR
(E) Question not attempted (C) TS (D) Eoral
wfites qfefe i wfer gfy fa et w2 (E) Fraica v
P fraved & ‘?‘ watfis I9gE I 56 Kcoladev National Park is famous for
(A) #ﬁﬁ’tﬂm{ ol Choose the o appmpnare answer from the
®) afqgtﬁa-ﬁﬁ options gwcng
R , {A) eg:&bnscwanon
il ation
(D) 'ﬁﬂ?ﬁﬁ"ﬂgﬂ " ' t ry birds -
(E) gof@wx ion conservation
»® Question not atternpted
) - ‘\, TG I R i
54 Thearticle of Jewellery called “Borla” is worn "b' ﬁﬂ%ﬁﬂﬁﬁﬁﬁﬁmﬁ*@gﬁmﬁ:
the Rajasthani women in ; (A) «enft 5T B) HArHEET
Choose the most appropriate answer Nﬂ:c ET T et @)  fiE @0 &
options given below: . \} . ®) Sraiawe
: N)
(A) . Neck &V ,/( 57) *“Chipko” movement in Himalayan region was
(B) Ankle 0 ; held to resist against .
-- Choose the most a 7 from tbe
(C) Wrist ’ ppropriate answer from the,
\\ options given below:
(D) (A) Road construction in hi i
. ction in hilly regions .,
(E) Questios ot%mpted (B) Hunting
wfvET AT T ST T kel Z (C) Cutting of trees
 S—— : (D)  Over exploitation of forest resources
» (E)  Question not attempted
ﬁqﬁ%ﬁmﬁﬁmﬁwmmﬂ?ﬁ fowmerdt & & “Roar stidrem ¥
(A) e fore wftvier & R forar mrar om
(B) ‘T@T ﬁ*’?‘ﬁﬁ#mf&mmm?
. (A) BT & ¥ ween oy
{©) - wm (B)_ 3= (Rrame )
L) fix ‘:g/q&ﬁaﬁm
st I T ot 1y e
E wa
® (E) Srgafawsr
DEF-BI14] 8 12 [ Contd-
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gy Name the Hindu Saint, also worshipped by the | 61 In which year was the “Mewar Praja Mandal”

Rl cnett Ry -~ established in Udaipur?

Choose the most appropriaie answer from the Choose the most.appropriate answer from the

e | options given below:

() Ramdevji — (B) - Mehaji Manglia e i T T S ST A G

(©) Devanarayanji (D) Mallinathji Prerfirfiaa foraedi 1 & waifiras 3qgw SaC LT

(E)  Question not attempted -

whmwmﬁﬁgfi\—«m-.ﬁ m‘ﬁt,%mq (A) 1940 (B) 193

o (© 1938 (p) 1939

ﬁﬁ%ﬂﬁﬁﬁ%naﬂ&meﬁ: (E) Question not attempted faﬁ?!fl?l qi
&) TR (®) et

(€) JEwst (D)  wheeESh 62 The integration of the anpumna into present day

(E) aigﬂﬁ‘d s - Rajasthan was co% d in how many stages?

Choosc the n

. ropriate answer from the
59 What is the colour of the ‘Pomcha’ presented to

the mother of a new born daughter?
Choose the most appropriate answer from the
options given below:

(A) Orange (B) Pink
(C) Yellow (D) Lavender @ 2
© 3 (@) 4

(E) Question not attempted
i T AT <61 R i for T e e x (E) Question not attempted / 3TFalta ¥
ﬁw’s‘afﬁaﬁwﬁn%ﬂafﬁm }% _

(A) =moft . (‘B 63 Which famous personality of Rajasthan is also
Q) dreT (@ 9 known as *Banasur Ka Shaheed™?
(E) a]aﬂ'f(ﬂ'ﬂ".’f N \'\ Choose the most appropriate answer from the
x options given below:
6  To which family offgusicdl instruments does the (A) Major Somnath Sharma
‘Shahnai’ belong? ' (B) Major Shaitan Singh
Choose the most appropriate answer from the (©) Lt Gen. Nathu Singh
options given below: D) LG . '
(A) Sushir (B) Dhol (E) - fn" "
B = (D) Barel Question not attempted
' T ¥ fr whtre safere AR
(E)  Question not attcmpled ' f e F:?H b RREU
e et P AT i 2 F_,q%;:’ .
ﬁqﬁ;ﬁgaﬁmﬁﬂﬁmffhmwgmmfz i WMifﬁﬂ'ﬂfﬁ}ma@mmﬂﬁ
Yy ghw ® o o o (B) o iy
© e © e © 0 wmfe © A v
® omafaa , E)  Srgaferwy
E 4] 8 , [ Contd...
13
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65  Which of the following non-metal reacts w;.hi’i

64 Match List-lwith —— cnnccntrmcd nitric acid (IINO,)?
List-1 —— . Choose the most appropriafe answer from ﬂ'e‘;:ﬂ
a. Non-metal used in l; Cruhite . options givemhelow: - Er
acid, gun-peiwder . A) [udi}g i
and nm‘licilig . (D) I"hosph‘?nls !J
b. Non-metal uged 11, Mercury . (© Carb}rp {,:,
in clcctmdeg; (D) Sulphg‘u ‘ :r
c. Metal used fw- M1 Sulphur " (E) Qusfioh not attempted g‘_l
clectronic i%rumcnts Prefafaa x"&)ﬁ Fa-dt 2T T mE 7= &
and wires O (HNO )%@mm% 8
d. Metal uscdgj.i 1v. Copper ﬁﬁmﬂfﬁ'ﬁﬁammm? $
thermomet&® o ' L™ :
g e ® W < |
Tt C}‘ g m— . (© ‘&u"l'if?q;‘ _ :
S e | © O
St S 1 ® ,{%@ 3
WW@N o % 66 ’ﬁ&wmg%gmn is part of which !tJfﬂ:= =
B ﬁa&zﬁzﬁqzﬁaﬁ L weRd () wing phfdiographic division of Ra)ast.!:*.n" =
aﬁﬁm‘ﬁ 'ﬁ' /< (/¥ Chboose thegtpiost appropriate answer from ’-5“
c. E@ﬁ;’lﬁﬂ?tﬂﬂmﬁaﬁt 1. §THt \' options gwﬂulow.
mftﬁsw&‘mﬁaﬁaraﬁ ' \\ ' (a) Ea!;tern plains rég‘wn _ t:
LG O c:) 1}/ ' (B)  West€@ desert plains region ‘l'
d. ﬂwﬁﬁuﬁaﬁﬂﬁaﬁ p—- . (©  Semidregion | |
areft urg kQ (D) Al‘ﬂ\'ﬂll region
Choose the masg/ap e answer (®) Queshionnot attempted E
options gwcnw rom the ramdt %ﬁm ¥ Pl #® fﬁE
A% e et & et s e R i o '
(A) a-ULbeLc-T,d-1v mﬁw*ﬂmfﬂﬁwg} i
® a-Lb-fRc.v,aenm @ wige ‘
DAY, c-Ldom C) SR et i
Ty . e i i
77 8-l b eV, rg—
(E)  Questiof@dt attempted / 37afte wit (B) aﬁv@m
DEF-B14) g A C cont
§
14
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6. In which of the following arcas of Rajasthan, | 70 Match List-I with List-IL.,
black soil is found? ; ListI List-II
L‘htms;- l.hc Most appropriate answer from the (Project/festival) (Place)
options given below: . ;
(A) Chum (B) . Jhalawar a. National park I.  Jaisalmer
(C) Jaisalmer (D) Bikaner b. Desert festival ~ II.  Sambhar Lake
(E)  Question not attempted | . c. Ramsar site I1I. Ranthambore
Tear & Refifaa ﬁﬁﬁ:{fmﬁmwm d. Braj Holi IV. Bharatpur
STt &2 _ Teft-1 3 w11 36 frem Ak
ﬁﬁmmﬁﬁmmmgﬁ; -1 -1l
(A I§ BT wmEE @iueATERET) )
©) 3 (D) s a. UM L e
() SrguRewy b. IE¥ReTw 1. WO A
68  In Rajasthan (SEZ) special economic zone for 5 WW'& . wrpdc
handicrafts has been established at: d. &= IV, sagu
Choose the most appropriate answer from the Choose !ﬁ; Most appropriate answer from the
options given below: T optifis, givén below: ’
(A) Sitapura (B) Bhiwadi T watfas 3ugm 3w T
:g ghil“‘ﬁm (D) Boranada {gy a-I,b-Il,c-Ld-1V
qcslion not attempted ¢ SIS li; d-1V
e e e s b}dé’ e
Pt R & s v 3 ‘\ CF “W=hb-IL,6-I0L d- TV
AT wrarga ®) ﬁ‘lﬂﬁ;; K (E)  Question not attempted / 3TFxfta w2
| © hemw () ﬁmm\} »
() ﬂﬂﬂﬁﬂﬂ'ﬁ"" 4 71  Which of the following cultural/ tourism events
..59 Who has been awarded th \rghn Award in Rajasthan will appear first in the year (English
¢ 2024 from anasti;an in U&sociai work? Calendar, 2025)? _
Choose the most ’gp@ e answer from the Ch?osc ‘.llc most appropriate answer from the
options given Eﬂows ' °P“°n§ given below:
(A) Mr)J 1 (A) Braj Holi festival
(B) Ms. Maya Tandon (B)  Camel festival
:r-, (C) Mr. Kumar Manglam Birla (©)  Kite festival '
o FI?)) :;” e Bth"“ ‘I;ai(;ang (D)  Baneshwar fair .
; : HESHon Dot giictpied. | (E) " Question not attempted
024
e e Bl T
N T m— St ST X IR ket iy oy
E (A) "4t st et -
LB g Wwﬁﬁm%mﬁ_
(O shrgECsiTem fgen A) 0 Ot v (B) Sz .
(D) o T g i ACT SR (D) Wy
1.) (E) Sryafawy (E) Wgﬂﬂ'ﬁ‘gg{ _
: °F-B14) & 9 [ Contg

.
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72 Which of the following techniques is suitable for | 74 Which® of the” following are the exufples o 8
he disposal of bio-medical waste? communicable diseases? ‘(
i £l
Choose the most appropriate answer from the a C'"f'f"?" pox i“
options given below: L / ;‘
(A) Gnkincration % Tubcfculsxs)s { i
o d.  Diabetes
(B) (Rruse i i 1A
©) %mlﬁll oy c. Cholern "\3 _ :.:.‘:
R e L E L Choose lhg mrg{guppmprimc answer from the_{‘,:
‘ tions given bEGiw: t
(E) Question not attempted ki gwcn.b , B
rrfarfrr i o et g e 8 (A) bandd o&l;' (B) a,dandeonly
Xf D'&:ﬁ‘-{q o = (C) a,bandconly (D) a,candeonly
(E) Question Yot attempted ' 3
ﬁm@q’fﬁ'&nﬂfbx I
: \""%l@“ SR Preaforfrn & 278 S BTy
ez A:Q ¥ (B, :
L SR sfer . wi v/ ' ;.
(D) é‘s’ﬁ it & figem i '
E A <
Y p® Wﬁw%&ﬁmﬁbwawgmmiﬁl
73 Sweptb@ycin, tetracycline and erythromycin ’S'\/(A) Faa bl (B) Faewa dafite
the examples of- | (© ¥a, b3fte koy= e, e she
ChoofeRhe most appropriate answer '?\the (B) yguica wer
options given below: \ _ ' \ ! !
K3, Whchonds M 4 \.« @ Divide 2 1,727Gmlo 3 parts so that their amount -
© Rytibiotics after 3, 4 and 5ygars respectively may beequl
gcﬂlon not anc the rate of interfbeing 5% per annum at simple
interest, The se%g:'u:l part ié; !
' %::3;::f§ % 1,727 <0 Wit & 50 b iR R 5% TS |
% ATOT ST 2 SR B 3, 4 A 5 A AT
et & e g s g ﬂﬁmmﬁlgnwm&
(A) 8‘!1&&1:5&373; @ T 3 |
(B) e (uferafh) (B) 69 @ :
er %‘hﬁrﬁwmﬁﬂﬁm (C) 552 % !
{
(D) ‘e TS5 - j
(E) &"lﬂ'ﬂuﬂ (E) Qllestionﬁst attempted / Al 97
DEF - BMDS !



;ﬁ On simple interest certain sum of money amounts
— 0¥ 18,130 in 6 years and to X 20,090 in 8 years.
Find the rate of interest.

mmm@ﬂ?ﬂfmaﬁz 18,130 Ay wireh
p— smiﬁ 220 ogo'ﬁarﬁhﬂ_mﬁztm F

PO (B) 6%
) 7% ﬁ’%
(E) Question not attempted /.3Tala wsr
) gt
?._ 71 Mendel performed hybridizatlon experiments on
plants. o
Choose the most appropriat¢-answer from the
options given below: Q0
(A) Onion S
(B) Tomato i
(C) Rose =
(D) Garden pea Yo
(E)  Question not attempted
EEGERETU R c‘%alﬂtﬁ‘rt&q&l
Prefefea i 3 Haﬁ'ﬁa;atrgﬁmiﬁ
(A) @O~ tQ o
(B) <TORX — QNNNs,
© Tm <t \}
7 T © \i..,
(B) 3rgaf@ws '0,
78  Which of the fo@‘sﬁ heterozygous
alleles? @
Choose the most 3,
st appropriatdnswer from the
options given below: —
(A)  BothTT and ut (B) ﬁ
L€ n @) T
(E)  Question not nl;cfnptcd

Freffan & @ @ gt ﬁ:—ﬁ?ﬁ
mﬁmﬁmﬁhmm
ﬁﬁﬁ-rﬁaaﬁmftﬁmﬂaﬁ&mm

(A) Trauddt (m) ln ¥

© u ABT 'm
® :"ﬁaﬂaw

79  Match List-1 with List-II.

List-1 List-11
a. Phenotype I.  Genelic constitution
b. Gene II. External appcarance

c. Genotype Il Notexpressed in Fl

f@éncration

d. Recessive IV. ’C-':;ctortlnt controls a

character c 1r'1cler
@lﬂ-mtﬁﬁ-nwﬁaanﬁﬁm
-1 T
a. TIRIET :mgaﬁmm
b. ST %mmm
c. SHwEY Il @pﬁ?.ﬁnaqﬁmmqﬁ
TR
d. mmm??ép/ 72 S =1 Rt sraror

V gﬂiﬁﬁﬂﬁﬂm &

Chooac él\‘ t;appropriate answer from the
opuo ign below:

% et o & Wiy Jugw ICTH:
a-1,b-1I,c-1II, d"W

S ©

D)
(E)

a-ILb-1V,c-1

a- I,b-lll,c-H.d\ﬂV

a-IV,b-I, c-IL,dt I

Question not attempretd / Gﬂﬂﬂfﬁrw
o

80 The Bhakma N:mgnl Project is a joint venture of

which of the follomng grU of states?

Choose the most appropgiate answer from the
options given below: a)

(A)  Punjab, Rajasthan, Otfar Pradesh

(B) Haryana, Punjab, R}u than

(©) Haryana, Himachal desh, Punjab

(D)  Rajasthan, HaryanaeUttar Pradesh

(E) Qucsnon not attempted

TR &1 ¥y 3w ¥

ﬁqﬁrﬁnf’q’m‘iﬁ&m@wmm

(A)  Som, R SRy Ryl
L zﬂamn YT, TR

©) ﬂ%ﬂ‘}]wq

(D) . namm o, :ﬁ@h

(B)  srmiawx

[ Contq,,,
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| . Which one of the following water dam projects is | B3 Malteh List-T with List-11,
P
. . " List-1 List-Il
not associated w:fh Rajasthan? i aninale (Caused by)
Choosc the most appropriate answer from the "““me)
options given below: a.  Anthrax I, Protozoa
(A) Panchna dam project b. Cowpox 1I. Hypoc'al: emia
Sidhmukh dam project e. Coccidiosis 11I. Bacterin’
tB). rme e d.  Milk fever’ V. Virus !
(C) Jakham dam project I@T-Iﬁ:mﬂtﬁﬁ-llwwzﬂm
(D) Matatila dam project _ .1 i '
(E) Question not attempted (@?ﬂ"h;trgaﬁ FIM @FTH)
o ) - ]n
frafafua § ¥ frg o s ara-gREsET i gar a. A :
- b. Tafraet O -\ i o
Fresfrere fravedt 3 & wrartfires g swog: .. wrrhfedRE &:‘rﬁmg(ﬂtfé’rfwr)
(A) i SR d. Frew i ‘&h’g feraey ()
o BT foraapar ata o v (ORI .
A Choose thc% ropriate answer from the
© i ; . options low: .
(D) * FEA AN aRdeE e S| &?ﬁ # ¥ waffirs suge IW T
(E) Srgafawx (A M,b-Lc-1V,d-11
7 a-M,b-Il,c-1IV,d-1
_ ¢ ) a-1Lb-TV,c-1,d-T1°
82  Pichola lake is Jocated at which place, in (©) a-Lb-ILc-TI,d-TV
Rajasthan? : \ b (B)  Question not attempted / TafE I
(A) Bikaner J (\/
(B) Kota \"""' 84 ©  Approximate age of sexual maturity of buffalo
) ’0,- bull is
) Lowpw \ Choose the most appropriate answer from t¢
(D) Jaipur \\’ options given below:
(E) Question not cmw (A) 20 months (B) 22 months
e e Teream ot fva &7 (C) 18 months (D) 15 months
(E)  Question not attempted :
A) dfET
(A) e BN A ohowa B oorgaha 3
®B) W Bt
er IR Pt e & wartfires suge s
(D) R (A) 207w 5 22W®
- . (C) 187m® (D) 15¥€
() 3guRa (B) oTyafeys ,
iF-Bl4] 3 18 [ Contd
18
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i Which of the following is not a component of | 87  The percentage of total solids in cow Tnlik is.
bio-gas? approximately .
Choose the most appropriate answer from (he m&;@ﬁnnffa}t[mslﬁimwm____._
aptions given below: ’
e Ol\' en (0,) e o ¢ from the
(A1 RS . (] Choose the most appropriale pnswe
(B)  CH, (Methane) o) ; 3o Baldw: o
T options given below: s
(C) Carbon dioxide (CO,) ) I?:;:[E forer Poreedt ﬁﬁnﬂffﬁ%wgﬂ;mﬂﬂ
(D) Hydrogen Sulphide (11N T 18.5% (B) :g%/
(E) Quecstion not attempted - ©) 5.8% D) 132%
ﬁ ﬁ . Il . L] =
i Eﬁt:(.‘m e @WW‘-&‘T?? (E) Question not :1!.la:rnplcff‘;j‘“ﬂ—"ﬁTlr a4
Frfftaa faeedl & & waifasmauge soog: )
~ ﬂ i C)
& N CH(O:) o] 88  ‘Operation Flood’ is related Py
) mﬁw{mmg (on) Choosc the most appropriafganswer from the
= (€9 options given below;# Ol
(D) TS HEHIES (H,S) : \B \9.
- » (A) oil NS 1
(E) * ¥gaf@ ws W 4V T
: ¢ (©) fish (° (D) wpter
86 Which of the following Phu Melas are ) Q“"MA@ antempted
conducted in Jhalrapatan of Jhalawar in 8 : .
Rajasthan? I i ﬁﬁﬁﬁﬁw&ff&%ﬂgﬁaﬁt?
a  ShriBaldeva Pashu Melg L ¢ )Y E ABY %‘"
b.  Gomti Sagar Pashu Melai)(y A ’blc) W © gFd
c. Shri Ramdev Pashu Mel§N \ (E) X 3
d.  Shri Chandrabhaga Pash'{l'E'rlela \ o5 |
& Shri Veer Tejaji Pashu Mcl.ﬂ p \ 89 A shopkeeper allows succggsjve discounts of
Choose the most appropriate @ps\\ﬁ.{wm the 15% and 10% on every item. He allowed an
options given below: - P, additional discount to his friend. His friend paid
(A) aandconly (B) d ¢ only ¥ 2,907 for an item marked fgEX 4,000. Find the
(C) c¢,dandeonl '*‘([w d only percentage of additional disggunt given to the
(E) Question no l!e%lcd (b 9] friend. N
% : it & o -
TSTEa™ § Fears I T TR Welleh T 0T 15% T 10% =Y shfires
ﬁ#—?ﬂ#—ﬁmﬂﬁaﬁﬁm%ﬂ’:ﬁai‘? Whglmmm“‘:‘@“ﬁfﬁﬁwa;
a, afnra%awgﬂm o siferer e % 4,000 Hr T D fre 3wy firy
b. i W A (o) % 2,907 1Y I6h B Y & 1 il
W gy AT T =y
c. AuHEw oy i R
Ml S A o (A) 4% -
c. ﬂ'iﬁtmqﬂﬁm O ' (B) 1% m
1 R e et #f A waifEmEEgw IO © 6% %
(A) Fa@asiic (B) ¥Fda, bole T
(©) %ﬁac.daﬂte/wr‘%ﬁbsﬂtd ) % : B,
(B) raRauA ::1‘ | Quesuon.tlot“altemple@% war
DEF.p14 ] 8 o) 19
19
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i« the captain of the 4™ Hockey '“‘# Junior

ively 30% and 40% of | 94 P  onship 2024 for*Hock
0 Tw° numbers are 1P rcentage is the first Men's National Championship oF xiocKey
entage 1 ’
the third number. \:l;ﬂ‘:mr’:cr? an::sth‘-‘lﬂ' team? r_
o a;::ﬂ’:;; ar: 30% T 40% & choose the most appropriate 0SWET Trima e
::Eﬁ#tﬂ'lm mﬂﬁ:ﬁnﬁmﬂi‘n © options given below: A j
T ,?5%.‘ ' (A) Meena Mohit
@) 40% () Kamalkant
() 50% (C) Gurjar Sachin Singh
D) 70% (D) Himanshu Kumar Meena
(E) Question not attempted / ATE FT (E) Question not attempted
A 106 T8 oo ﬁmgﬁe‘éﬁuﬁwam-ﬁﬁ?ﬁl
91 Three bells ring at intervals of 9 minutes, 12 Mﬁwf‘; . = P
minutes and 15 minutes respectively. If they start reTedT m " =
ringing together at the same time, after how much Prerfefr fewe i3S gm I
time will they next ring together?., - (A) oy sifeat '
(A) 3hours (8) 1 hour 50 min o my wHEE .&
(C) 2hours (D) 2 hours 30 min © mearfiE
(E) Question not attempted . (D) mm%
o dfeat wam: 9 fire, 12 fipre qur 15 e & '(E) W‘O
e WA & Al A O A O W ,ﬂ\i./ -
T g el & A st A fR A % IR O X
T N : 95 Iny‘%g e did Annu Rani win the gold medal
) 3% ®) | o1 50 e :& sian Games 20237
(€ 2% (@ 29e30fimz <<ébose the most appropriate answer from B¢
(E) aqaﬂftﬂﬁ’q ‘ ;! options given below:
. .\y (A) Shooting .
92  Three numbers are in the ratio3 : 426 an (B) Wrestling
HCFis 9. Th ja: \J :
e is9 cL-Cl\;ofthenumbcrl s 4 -~ (C) - Tavelin Throw
demd3:4: 6% AqEAAL HCF 9 ®)" Di
2T HESN FTLCM & \ e T_h.l‘ow -
(A) 324 . A8 (E) Question not attempted
(C) 540 , 108 2023 ¥ v At 3 o 3 few 9 2
(E) Questionnota fted / aﬁaﬂam T e At
3 - ' Frefifra foeredt § & watfaes sugw s T
93 The HCF of 13,5,0.9 and 12 is: (a)  Framesh .o
13.5, 0.9 T 12 1 HCF (H&0H GHIadd) §: ®) T
Ay 24 A5 03 © wEn¥w
fg :).os (D) 3 (D) fewmm sy
uestion not atfempted / I7gafta :
DEF-B14) @ PRECE (B)  orgafewx
. 20
[ Contd-
20
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o I Rajasthan  under  the,

_ “Mukhyamantri
Ayushman Durghatna Bima Yojana®, the amount
paid by the government, in case of death of more

than onc family member in an accident js:

Choose the most appropriate answer from the

options given below:

(A) T20Lac

@) ¥5Lac

(€) 210Lac

¥ 25 Lac
(E)  Question not attempted
TSR & e St geeAT e der,
st ot RT3 e @ otfren i 3 e #
T R & WA fera 87
et feapedt & & wraffars F9g S TH:
(A) T2007m@
(B) Is¥@

AC) 10w
D)

(E) rgafawa

97  According to Rajasthan budget 4‘2@'
February 2024) which of the follo%ﬁum
bond is proposed 1o be gwem’gﬁ through
*Lado Protsahan Yo;nq&

Choose the most a@ ¢ answer from the
options given below:

ASTAT awe 2024-25 (8 w.'afr 2024) % 3FAX
et Sreared AT & A @t fre A a
R s o % 271 R B2

Preffiaa faaed 4§ waﬁhwzqgmmﬁ
(A) %2,00,000

(B) 750,000

c 1,00,000

(D) %1,50,000

(E) Question not altempied / arwfter ¥4

T25@@ ¢

4

DEF.B14) 8 : 21

21

6\

OBCs the

In Pre-Matric scholarship  for
expenditurc is shared between Center and state in

the ratio of:
Choose the most appropriate answer from the

options given below:

(A) 100% state sponsorcd scheme

(B) 70:30

(C) 50:50

(D)  100% centre sponsored scheme

(E) Question not alicmpted

st gt & ford Ay o orgfa # =
ST 3% 9 T WEHTC 3 AT 2

foperfrfiae faemedi § & Ww;ﬁ:

100% TSa &
AT 3

(B) 70:30

\
©) 505 ({\‘0
(D) '}#ﬁwmm
(Ep/%’mw

e average of the numbers K, (K+7),7,9,12,
15 and (2K + 1) is 9, then what is the value of
X2+1)?
FRrEE K, (K+7),7,9, 12, ISTUT (2K + 1) &
afta 9 &, A (K2 + 1) 7 0 &1 22
(A) 26 ®B) 5
Jer 10 ®) 17
(E)  Question not attempted / 3Fafta war

An item was sold at a profit of 15%. Ifits cost had
been 5% less and it had been sold for ¥ 258 Jess,

the profit would have bccn 12%. Find lhe cost
price of the item.

T ARG A lS%mmﬂmeﬁmmm
5% T €Y1 AT AR 2ssaquazﬁq§m?hm

12% AT BTl 79 Wl Tt
(A) 72940 (B) 3,200
(C) %3,120 APT %3000

(E)  Question not attempted / e war

[ Contq,,
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Which fort in Rajasthan was called the armoured

fort (Bakhtarband Durg) by Abul Fnjnal?
Choose the mast appropriate answer from the

options given below:

101

104  Name the folk deity of Rajasthan known as ¢

God ol camels-
Choose the most appropriate answer from

options given below:

(A) Taragarth (B) Kumbhalgarh (A) Mallinathji (B) Gogaji
(C) Nahargarh (D) Rantlmmbon: = (C)- TC_]D]l . (D) Pabuji
(E) Qfitxtion not attempted (E) Qucshan not attempted
mm@%mﬂ#ﬁﬁuﬂmf%ﬁaﬁw ﬁm%mmmf"rﬁémm&a—nn
. . amn%-r_; }
~ Vet 22 ('B'“)“a“;a ke Freferfara Revedt & & wartfire Toges Ta0g:
© mﬁi (A mReETEt (B) TR
@ D) e bi
® gghawm : gf; K. o {2, .
102 . What arg-Batceliya, Bichhiyo and Lalar? L@
Choose ith 1:&2 most appropriate’ answer, from 1he ' ::II:::;;%; ;:i;ﬂi?:‘:t:::;:;::mmu “.; L h
options n below: : )
(A) pb‘m —_— !nsmmm{s"' Chooic ghc most appropriate answer from t -
(B) " FdiK dances | ! optiorigigiven below,
(© F songs : (A) \‘.‘Vigat ) Jhamal
(D) Fplkdrama . (C) r Vaat Parchi
(E)" "Question not attempted nncmptcd
gqeferar, fafea i e §2 ﬁmﬁmm iy
¥ waifirg Sages SwE:

(A) aETH  (B) 'E"ha;:ia; _ 3

AC) =y (D) WrFARE N - e i ¥
) a#f;ﬂ?maz ) y N -a"fa (fgl; sl

103 In 2010,hich famous folk dance of Rajasthan &) wor
was. inqluged by UNESCO in its intangible =
* 4

cultural heritage list?

Choose the most appropriate answ@

options Eibcn below: | -

106 Which dialect of the Rajasthan is spoken in 8
“region of Kota, Bundi, Jhalawar and Bar

(A) XSiBeliya Dance 0 tegion?’:
(B) AP Dance LWV Choosgthe most appropriate answer from %
© Dance \ options:given below:
(D) Tgrah Taali Dagce (A) "l&lalawi (B Mewati
(E) Qugstion not at § (©) tDi:'u.tdhm-i (D)) H:doti
2010 ¥ @Pm% #F forer a’m = e (E) t.,l estion not attempted
§ oy Wmﬁmwﬂm@ﬁqﬁqﬁa m 32, ST st A A A
ST ®7
ﬁ‘&mﬁ&a;:mgm
_A) ™ (B) o T ﬁaﬁiﬁﬁmmwﬂi
- KN (A) g B) el
©) . (D) el gy R L) (®B)
E) A E BF TR
: o bt ’
DEF - B14] 5 22 r:;i [ Contd~
' o
22
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107

108

109

f-Bl4) @

Which of the following is not the breed of bufYalo:

Choose the most appropriate answer from the
options given below:

(A)  Murrah (B) Mchsana

(C) Beetal (D) Toda .

(E)  Question not attempted
ﬁnﬁafmﬁﬂaﬁnﬁﬁaﬂm?ﬁ%‘?
ﬁﬂ%%ﬁﬁﬁﬁﬁﬂﬂaﬁ&mmmgi
@) T (B) Awamom

© e Py A

(E) fuRays

Which of the following is the correct temperature
for cryopreservation of semen in liquid nitrogen?
Choose the most appropriate answer from the
options given below: ,
a‘ﬁaﬁmm@mﬁﬁm&mm%ﬁ%m
FTATEAE IR
ﬁﬂ%ﬁaﬁwﬁﬁﬁmmmgi:

(A) =-B86°C NBY -19°C -
(©) -196°C (D) =-296°C . ¢
(E) Question not attcmpled!aﬁﬂﬂ?r‘lﬂ \

4

A transmissible viral disease ‘Ran X’
common disease of: \
Choose the most appropriate :&um the
options given below: \

(A) Sheep ‘5

(B) Goat

(C) Poultry

(D) Cow

(E)  Question not attempted

RO R S T v g @
&?
mmﬁmaammmmga
A&y SgE

(B) ww{=r

© FEgew

(D) TMEEr f

(B) quiawd

110  According to *Rising Rajasthan 2024’, Rajasthans

111

N

112

—€) Prwefiewr

23

rank in installed wind power capacity is:
Choose the most appropriate answer from the
options given below:

(A) an B) 2™
(C) 3l'd (D) lﬂ
(E) Question not attempted

IR TSR 20247, % IR GIT FAT b
unfirer srvaT 3 R 3 UeTEdT 6 T -

P et # & wraffis sogm 39 g4:
A g8 oy
(C) T (D) w49
(E) rquf@yd
#

Who among th wing players of team
‘Hockey Raj c&%adc the only goal in the
14% Hoc )&w ja Junior Men’s National
Champioris against ‘Hockey Haryana*?
Choogﬁl}bmoﬂ appropriate answer from the
ven below:
ahilRuhal  (B) . Sunil Mann
‘Anurag Suthar (D) Amit Khasa
Question not attempted
Bﬁﬁ T F Fefafes & @ fea ﬁi?ﬂé‘]’ T
143 o9 Ty ST €kt ARRTe-2024 F gy
B & Raems v e fmam
ﬁrﬂféﬁﬁf&ﬁifﬁﬁwfﬁmmmﬁ
(A) wifestwee (B) @Fﬁfﬁ
(©) HFmEuR . (D) A arr
(B) Sigafaws

Which of the following is a physical change?
Choose the most appropriate answer from the
options given below:

(A) Digestion of food

(B) Rusting of iron

(C) Crystallisation

(D)  Bursting of crackers

(E)  Question not attempted
Frefafte & / w-an s Ty 29
Pt Rt ¥ & warfforas gaze; _
(A) vFFIET  (B) R sy m?&

() gof@wy
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113 Which of the following fruits and vegelables
change their colour, when after cutting. they are

kept open for some time?

a. Apple o b. Tomato

c. Potato ¢ d.  DBrinjal

c. Camot R

Choose the mr%appmpn'nfr answer from the
options given belalw:

(A) a,cand @ly (B) a,bandconly

(C) b,canddonly (D) ¢,dandeconly

(E) Question<Dtattempled .
Pt 3 3 402 v SR At T F AR
o T % ford e v woarwd 1§ aftwdd W
SEEy (o] '

ER C g b. TX

. ¥ o d FH

c. NGy " g

i e e fraeldE & waffires sugew s
&7 S, c Fd (B) FadabaiRe
y F=Eb,c d ® FF€c,d3lRe

®)" gafas N
—~ (<
114 When a numberggincreased by 473-% oftself,
it becomes 590. The number is: ) \
R TEnEd ¥ 475 % R o
S e 2  S—
(A) 470 @ ’0,
®) 350 X
ey a0 O \}}
(D) 430 3 S
(E) Question fmpted / At Wt

115 If (150% of k) -lé- 540, then the value of k is:
TR (k FT 150%XD3 = 540, Ak FTHH R:

() 1080 @
®) 360 N
X
(C) 540 oo
D) %20
() Question ot attempted / 3T o
DEF-B14] @

24

@ The total number of students in a school was 750 f
As a result of new admissions in the school, 1k,

[N

number of boys increased by 1175 and the numbe; -
of girls increased by 20%. IT the total number of E‘t
students in the sctxgpl became 846, then what 5,-,]%
the number of girlShow? E
fmt faarem @rﬁhﬁ £ FTA T 750 B
firarer it qo ifEditis sfom srn azsi S |
R 11% gfg @ J'zﬁa‘wﬁzo%qﬁ{g;’
f frarer & RroARTd Y et weaT 846 B E A |

14
[
[
-

168 o
. T ® 150 3?&

(©) 180

o) 192 \'f;

ttempted / TTANA ¥

€ QueNgr
.ﬂ\i./
117

;{-&u of mgmbm is 14 times their HCF
¢ sum of LE)I and HCF is 600. If cae of
&e number is 28K then the other number is:

\ 31 R @ LCM(STges FHads) 395 HCE
(& TAad) = 14 T § a9 LOM (@5
) 3 HCP (e T w5 9 600
IR T o s 280 R, A @@ AR

AT 80 Q ® 320
(C) 140 8 D) 120

(E) Question n@httempted / THRA WX
: Xe]

i
118  Ifthe average of &qumbers is 12 and the averae
of five of these nlmlbers is 15, then what is the
average of the remaining numbers?

R 8 W 3R 12 R A & it wET

= 3l IS%.?ﬁgﬂ'@nifmaﬂmw%?
(A) 75 N B) 6
© 65 o 2
(E)  Question neggettempted / SFRA §¥
o | Contd.~
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119, Ze average age of B3 in a group of students is

“twice the nnmber of-dirls in the group and the

average age of the whitle group of 50 students is
19.2 years, 1l the Q9 of number of boys and
girls in the group is ¢4, then what is the average

122 Vast natural pastures on the high mountains, in ~

Garhwal region above 12;900 feet are called:
Choose the most appr@fare answer from the

options given below:

N
age of girls (in years)2t (A)  Evergreen grasslddd
50 faranfial 3w wiEh gt sl i e (B) Bugyal :,:.;
ﬂw@iﬁmﬁ,ﬁ@%wﬁwrﬁmﬂ (C) DBhabar o
31g 19.2 @ 3l ge ¥ @ ok weh N ,
b, 5 : - (D) Terai grassland
T F 3T 401 R, 3t Y et g (@t , )
T 0 ; (E)  Question not attegnpted
(A) 17 o) 16 igaTer 891 8, 12,000 2 st 1 Smd jrnﬁ:«m
(€) 18 oy 15 & verst W faamer wrfeen, some #wed o
(E)  Question not ag}npzedmﬁaﬂaw Pt Rreredt & Fraffiras Fwges 5T T
o O o (A) HEER H
120 Udder sccretion immediately after calving is & /N
known as disrichin s ABY Wé Vo
Choose the most apprppriate answer from the’ © ¢ o
options given below:0D : D) ; ﬂzﬁo
(A) Calf starter, Ig@Q{B) Colostrum, Ig A ™o
(C)  Firstmilk, IgE™(D) Special milk, Ig M :Eb- OF
(E) * Question not aggmpted ; : M L -
m%m%ﬁm@ﬂmﬂ?ﬁ%ﬁ‘cﬁa“% ﬁb’ d.mf e ow{ng‘dlf ’ ; o
J— T & 39 7w ¥ T \ “the highest populationSgrowth rate during the
TaT el o © decade 0f 2001-20117
ﬁﬁfﬁf@ﬁ'ﬁﬁﬁﬁmaﬂgﬁ : Choose the most appropriate answer from the
LA) TERRL Ig 7B) m options given below: g i
,Ig E 4D M )
§ IR R | S
= < N (B) Bikaner tg
121 Which of the foll6ifig 1% not the pastoral (C) Barmmer BN
community of thelllimalyyas? (D) Kota v
Choose the most priate answer from the (E)  Question not attempted
options given belows ; 2001-2011 ¥ T ¥ WEfafaa § § worey
Dhangar  OQ(B) DBhootiya . iR
Eé; Kinnauri  C\{D) Sherpa Rew frivify = i[fg'( W
(E)  Question not Afttmpted ﬁ“ﬁ"f@“m“w&“mm@
Frifefaa i 3 @ ferera @ aqgaron (A) R e
£y = __ (B) e
Frfefera faaredt & § watfies sogwm 3w g Uy e
© =t (D) 9w K i
(E) 313‘:11’(?[51%1’ (E) 3‘3“““
DEF-B14] B 25
25
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124 Which of the followling districts of Rajasthan had | 126 DifTused reflection is caused by:
the highest percentage of urban population in Choose the maost apprapriate answer from g,
their total population in the census of 20117 aptlarik givanibelaw:
(A) Concave lens
Cl‘ID(.\.'-‘l'.‘ the maost appropriate answer from the (D) . Irregular surface of the reflector
options given below: (C) Plane mirror
(A)  Udaipur (D) DBright and smooth surface
) Jaipur (B)  Question not attempted
© Kota Rrafar (rfrafirm quads 0% sror v &
(D) Bikaner ol St &
- = (A) oTae S {
( Qucslltln not allcl‘nplcd ’(mr- mﬁ aﬁqﬁﬁ_‘-m i
mnaﬁwwmﬁm%ﬁqﬁ-ﬁmﬁﬁﬁa (C) wHer 2duy a
ﬁlﬁtﬁmﬁmmxﬁmm%aﬁw (D) =whieht 3 faft wae N
w1 waifr um _ 1 ® ogufawd g
ﬁmw*ﬂmmmﬁ: 127 : is mostly used as side mimor d]
(A) - - vehicles, !
i T Choose the mos%{pmpn'a!e answer from thz;
i L options given bolgw: !
(©) W (A) Co clens (B) Concave mirror
(I?)' dF © ¥'rgirror (D) Plane mirror {
(E) uRawx (E), ion not attempted
) ,\ T ITANT FfireeT areAl & 9
: - : STar 31 f.
125 \’:Jihthof.thc fo;lom:gbstatemcnts is incorrect ¢ ﬁﬁ'ﬁﬁﬂ'maﬂ'ﬂ?ﬁ'mﬁ= !
about the im i { , I
o u: age formed by a convex mirror? &} (A) IEqady (B) aar3dr i
oose the most appropriate answer from the ~H€) Iaadoy (D) WHAATT
options given below: (B) ogaf@wxn
(A) Itis smaller than the object. \} ) ;
(B) Itis virtual and upright :my e RS i S s
) India? ’
C) Itis formed behind the mj '
© Ts o mated Choose the most appropriate answer from -
(D) Itisformedonthes ide of the object options given below:
(E) Question not (A)  Dr. Har Govind Khurana (Khorana)
Faerad H grraTRaTe Fand freffa (B) J.C.Bose
T P T e (©) Rishi Charak
Fmafefiea et & & wafis avgm s (D) Dr. Homi Jahangir Bhabha
(A) ATAD R ' (E) _Question not attempted
NI 5 RRY v R (et wge) H
(B) & et oA e g &) F T N TR ST
©r Airkdd e e frerest & & rarfors swgm s
(D) yTgTRAMMH A TS (A) St e guanp) @A =
©) #Ruwm oy < o
(E) rqafauy !
(B) orgefawy
DEF-BI4] @ 26 [ Contd-
26
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129

/(L/ gy (g st ,_'"‘f

(D) uTgs nfu oy 3

130

)
Which of the following -endogrine glands is

known as the master gland of the body?

Choose the most appropriate m’ls\’ucr from the
options given below:

(A)  Thymus gland (1) "Adn':_n.al gland

(C) Pituitary gland (D) Thj‘l‘rbid gland

(E)  Question not attempted '

fr=fafoa i @ A mmmﬂ'niﬂxwmtﬁ TR

ifr wend) &2 . “:,.;
freferfia faaeal & ﬂmﬁh’m‘aﬂgﬁmgﬁ
u\) urgwE nfa €3

Srfreaes (gdien) vifs ,‘{3

(B) it s

(-
Which of the following conditions’are correct for

donating the blood by a male or fetnale?

a. The weight of a person must he xibovc 45 kg

b. The person should not suffer froqa any serious
disease, L

c. Hemoglobin level in their blood must p‘
betwceen 8 to 12,

d. The person has not donated bﬂd smN

two years .
Choose the rmost appropriate m&fw the
options given below:
(A) aandbonly conly ‘.
©) b,canddonl& ( \ & only
(E) Question nofatt
freht qew Sral TR T Th IHFA F fae
fFrefafiaa & & F1- Tadre?
a. 3 cafth 1A 45 kg%a;ﬁm%"ﬁmaﬁqu

b, e frelt T T & difa Tdh i
c. mmﬁﬁﬁr@ﬁzmmsﬁzﬁ:mﬁm

arfew
4. 3@ zafw Y o A9V wrm el R B
:ﬁaﬁqmﬁmﬁﬁﬁmfﬁm:{vg?ﬁmvﬁl |
(A) ¥aeta b _A4BF  awmera, b 3Mc
(C) W*asib, c3d (D) Faercaind

132

() srguReTid

DEF - B14 | 8

27

o
131 A flap like clastic cartilage whi@cts as a switch

between the esophagus and trachEh is:

Choose the maost appropriate gpswer from the

options given below: i
(A) Bronchus g
(1)  Pharynx

(C) Larynx o
(D) . Epiglottis (]

(E)  Question not attempted O'J

@ W (o), Nl AR TR T S

$eirema et 3 i (e 3 e feara
~
fivifrFdwAL, @R- O
mwgmaﬂtg‘:i
’ Q
o
(s8]
g
(X8
'r-l
<t
O
Haemoglobin is present in o

Choose the most appropriate @iSwer from the

62

options given below:

(A) Both white and red blood:‘é’dlls

(B) . White blood cells.c.. ¢

(C) Red blood cells

(D) Platelets Q
o

(E) Question notattempted ~y

Erenfam g omar - N

0
ﬁmﬁ-ﬁﬂﬁﬁﬁﬁémﬂbﬂvwm;ﬁ:

(A) aﬁwmmmmﬁﬁﬁ
S(B) AT T WA F
AC) e AR
(D) ey (<)
(E) ugaﬂa!l’.‘r
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133

134

Sclect the correct statements from the following :

a. Canceriscaused by uncontrolled cell division.

b. Hepatitis-A is caused by bacteria.

c. Haemophilin is a genetic disorder.

d. Leprosy is a viral disease.

Choose the most appropriate answer from the

options given below: ,

(A) o.bandconly (B) aandconly

(C) bandconly (D) nandd only

(E) Question not attempted

Prrfarferer 3 & e Rt o g

e orfeifirr PR Ry & wroer 8T @1

RYeTsm-A sfraropail & T gt

. B ST e

. 7 A (Asirelh) w Ry = A R
Rﬁﬁ'{ﬂt{ﬁﬁ‘ﬁ 9 waffirs gugs ST

_ANT Faeta, bafRc (B) FaeTadiMe

(C) ¥a@b3iRe @{ Faera ANd

(E) aqaaﬂam

is reddish brown, bean shaped

f"-l')c:':,:l

structure present in lower abdominal cavity (<

human beings.

Choose the most appropriate answer Nc
options given below: . '\ g
A) (N

®) &"'
©) AQ' '

(D)
(E)

Thyroid gland
Kidney

Liver

Gall bladder
Qu estion t a

fm"rﬁwca‘h)%;azmaﬁt
aaﬂ#gsr%ﬁa@mmﬁuﬂ

AT R S
STt 1
ﬁﬂﬁﬁ!ﬂﬁﬁ‘ﬁﬁﬂﬂfmﬁmmgft
(A) amiEs Uy

_AB) ()

(C) TFA (Y
(D) fremma (et &Y

(E) aagaﬂam

DEF-B14] @ ‘o

28

28

135 Identify the Rajasthani player who has not play,,

cricket in Indian Cricket team.
Choose the most appropriate answer from (y,

options given below:
Aanantjit Singh Naruka

(A)
(B)  Gagan Kishanlal Khoda
(€) Hanumant Singh
(D) 'IPaﬂ'h'asaralhy Harishchandra Sharma
(E) Question not attempted
e Trerear faes ﬁiﬂ*ﬂmﬁﬂﬁc&zmq%
Téf e, B
Prefarfire fraredt 3 & WS ITTH IR
(A)  orasfa fie TEH
@) T e @reT
© T
(D) rdETdt
® waﬂ@?g’

136 Nu or ir‘cgg is a rich source of:

‘b\’

oteins
Iron and phosphorus-
Unsaturated fatty acids
_ Carbohydrates
e. VitaminE

Choose the most appropriate answet from B¢

options given below: _
a and d only

(A) c,dandeonly (B)
(€©) bandeonly (D) abandconly
(E)  Question not attempted :i
e i 5 & srver v v A & '.
a.  UEEEr
b, S 3w @
LR SR G EL s B0
d, Hﬂﬁsﬁ%qﬂ
e frefmes
3 R T st 8 ararfirer g ST
I ¢, d 3k e RSt a S
aﬁabaﬂte (D) Faei o, b ACE
(E) NECiRoS B :
[ Contd-

b
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Which of the following is not a protein present in \_ly:\ sum of ¥ 23,450 is divided among A, B, Cand

13
cd the money in the ratio

o N
mlﬂk- h ’ AR D such that they receiv
Choose the mos appropriate answer from the
' - =2 » =0 :D= 3:4.
options givenbelow: . of A:B=2:3,B:C=5:6andC
(A) Lactosc (B)., _Ca;scin How much money did D receive?
() Lactalbumin (D) = Lactaglobulin 7 23,450 F1 ufr A, B,C T DA 7@ TR A
PR YL g
(E) Question not attempted 8 foF ¢ W R eI A B =2 3,
frefafaa § A FR-A13Y T S AT O W N
. - “ﬁmaﬁ w B:c=5:6mc:n=3z4%mfﬁmm
Pt freredt 3 @ Hatfiie S9gw SAUT: Lo
(A) <RI _@y” HH (A) 8,150 (8) %8500
©) dFeeEEia (D) S _JBr T840 (D) 8200
(E) af@wsd - ' 5 FRIHE
2 (E) Question not attempted /GHEI,HﬁTT pEs

138"\ The common test to check adult .‘ |
adulteration of ghee | ;41  pjgilocker’ is a emment cloud based -
PRl

\with animal fatis: ¢
Choose the most appropriate preweE froii he platform prowdu#f tion for:
options given below: Choosc -me‘%@mprfa!c answer from the
(A) Nitric acid test ' oplionsgl %élow:
@) Carbolicacid test | (A;i@ ag election felated data in a digital

(C) Baudouin test

(D) Halphens test ' “a'\ -
(E) Question not attempted : ' ) S:og'ng R di_gilal e
ot & g =@ ) firamae € wig &0 * (C) Storing important documents in a digital

' form

?:ﬁﬁﬂﬂﬁﬂﬁﬁaammv@ | (D) Storing precious metals in a digital form
- IE.,EE st T ,0 (E) Question not attempted -

© ?ﬂ?‘“mm\? , FERRTT TR T TR A ST
‘JLD)/ qu .S '@E‘FT&%: " .

“(E) agaﬂ_?f_ml {.' / ﬁqf\aﬁaﬁﬁﬁﬁiﬂwmapgmmaﬁ:

: (A) T st siwet @ fefree v § T
139 A goldsmith has gold of 14 carat purity and 18 AR : w
carat purity. In what ratio should he mix the tWo
(B) T feforee T ¥ endia w0 % Ry

to make an omament of 15 carat purity?

e e 3 e 14 4R @ v 18 A T T Mwﬁmﬁﬁmmﬁ st

mtnsa:af;;:m@wmmma;mwﬁ FAHRA .
R 341 W(B) 5:2 9 = T W ey
() 4:3 (D) 5:4 fow. .
(E) Queé«ionnota‘tl_cmp:edmﬂaﬁauar (B) rgafawa
DEF-pB14] 6 29
29
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142 The upper limit of Joan amount proposed in the

first phaseCOT ‘Gopal Credit Card Schemc® for

one year is
ne Y o)

Choose thennos? appropriate answer from the

options given below:

ot FRg e AT &immfimﬁa
"ﬁwﬁrﬁmm—c&iﬁ&mfﬁmmmgﬁ

(A) T2,50000 o

y~ 50000

"i) !?S?%O 105 Fr vefe -

(D) " 21,00000 ~

(E) Quescn‘_;nnot aticmptedfaﬁ'ﬂfl'ﬂ’ ¥

143  The first pE.fe of “Gopal Credit Card Scheme”
proposed Gdm 25" September 2024 to 8“‘

[
October 2@ is to target teachmg how many

Gopalak fdhilies?
Choose lhe\_‘fpasr appmprmre answcr from lhc
_options gt\@below
(ay 11 1%5 ) \
®) 3hO e N,
(©) Shh \‘\/

- w
(D) 913&0 ; : 0'
(E) Qu:qonnotattem t %
wiraret FHEEITE T AT =0T S 25 et
. 20247 8 AT W24 AP VAT B, T Ty e
W‘ﬂ%ﬁ T FIR?

PRt # & waffiw sugew s gh

® 37

(C) 59D
®) o7&
(E) gt s

DEF-B14] @ -

30

30

144  Who tS the minister of technical cducag,nn i
Raj-mlh_ﬂ (in September 2024)?
ChooseYihe Wtost appropriate answer from |,
opl|0n§F1vcn below:
(A)
(B)
©
~ ©)
" (B) Q&csuon not attempted
mnﬁaﬁﬁﬁmuﬁ(mﬂmzozm)a\q '
&
ﬁﬁ%ﬁhﬁﬁﬁﬁﬁmmmg?ﬁmiﬁ
Wﬁmgmﬂ

Smt. Diya Kumari

5liti Kirodi Lal

gl?ri Madan Dilawar
Dr. l"rcrﬁ Chand Bairwa

mber 2024, In Indian states Rajasthan mnkcﬂ
2 _in projected GSDP (FY 2024-25)

Choosahe most appropriate apswer from e

optmnwvcn below: . : :
(A) - TRf (Eleventh) .. ‘ e
(B) 5 (Third) F
(C) S (Fifih)
(D) 7 Sev
b( enth)

(E) _ Question not attempted

- P 4R B R, 2024 § wefow RAEF
SRR 5 vt #f, qropeerry oot vt (T
#rvn)ﬁ@uﬁzom-zs EEIEE S
Tf%r’mﬁweta waifir Suge TS

)

(B)
©)
(D)
(E)

[

g

i<t

wraat

e war
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"6 Af(‘llfdlnb to’ Illodlﬁcd' l’udgcl 3024 25 of
Rajasthan, how much money, is allocated under _ .
i i phic regi than?

“Doctor Shyama Prasad Mukherjee Zila Utthan following physiographic regions of Rajas

149 Chulia a water fall is Jocated in which of the

Yojana"™? Choose the most appropriate answer-from the

Choose the most approprmré answer from the
~ options given below: e

:2; :ﬂg :; | :BD))‘ .igz f; (B) Western desert plain rcgion

(E) Qucstlon not atlemptcd 2 (C) Eastern plain region £

umn%wﬁaﬁamzozusﬁ:a@n (D)

<1 T RIS @i firer Seam e *?fﬁh-cpn

options given below:

(A) Aravaliregion

South-castern plateau region

; (E) -Question not attempted
mﬁmﬁmﬁfnﬁ%ﬂ
Frerfafaa fasedt & & watfos sugm s " ﬂﬁ*‘“mmﬂﬂm’**ﬁqi%ﬂ@ﬂ 7§ fow
(A) 900 /(,[37430035.(‘(3‘ viferer g of R 87
(€) s00Fs (D) T00WF . frfafas el 44 IugH I
E) e, | (8 orel B

(B) ufEt AT &

147 Where is the place of orlgm of Luni river ol'
Rajasthan? : : .
Choose_the most appmpn‘are,-.answer, from the
options given below:

(A) Eastern Satpura range
(B) " ‘Amarkantak '

\{D’&nﬂch of the folluwmg types of forests are not

(C) " Nagg-Pahar . 3 q
(D) Angsi Glacier S - \ found in Rajaéthan? )
(E) ., Question notatiempted A \ Choose the most appropriate answer from the
TSy T < 4T 6T 35N TH o 5

= options given below:
Frafafas fawet 3 & waifaew
(A) wdiwagsT Aot (B) (A) Tidal forest

) ANT-9ES (D) ' (B) Tropical thom forest

(E) wnﬂ - \, . (C) Tropical dry deciduous forest
148 Which one of the fm hot winds blows in D). S:ub-tropicai montane forest _

Rajasthan? (E) 'Question'ot attempted - v

Choose the m0st appropriate answer from the | * ﬁqﬁmﬁmmtmmﬁwﬁwm

options given below: %

(A) Sirocco ., ,(B) Khamsin. - i i

© Loo . (D ' Chinook mﬁﬁﬁﬁﬁmmm@

(E) Question not aitempted a AR sl

mm“:ﬁ’:';ﬂﬁw“ﬁmm frerfefa 5 (B) WY FRER A

Freferfiaa fasedt &  Fatfigs goge 3ot 3 ©) oot = ol o

(A) et ®) @A (D) Sl i T

Aer . D) feF (E) oaf@wx

() orafEwa |

DEF"’BIA ] 8 . ' 31' [ Contd...
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